PIPE SUPPORTS

Clamping guide systems

9GOIZEA

EXPERTOS EN SOLUCIONES

System: 22/H4-H1

-,
-
by
i Beam dimensions Force (kN i

»;Ppllcablc:_lforP Loadgroup (kN) wi'ght Thread

€am profiles & | Thickn. | Width Fx Fy Fz g
HEA 100-300
HEB 100-160 6-15 | 100-300 1 - | #-390| -390 | 08 M12
IPE 200-360
T 50-140

For Pipe shoes

Base plate thickness <=13mm - no U profile, B=all

Description

2xH4 + 1xH1L + 1xH1R + 2 tie rods M12 + 4 nuts M12 —HD galvanised

Other configurations

GOIZEA, S.L.

Arteta Barri 2-4

E-48610-Urduliz (Bizkaia)

Tel. +3494 67661 77
Fax. +34 94 676 62 60

Page 1/13

E-mail: goizea@qgoizeacom | Edition 04 2012



mailto:goizea@goizea.com

PIPE SUPPORTS

Clamping guide systems

9GOIZEA

EXPERTOS EN SOLUCIONES

System 22/H4

=
e
"y
i Beam dimensions Force (kN i
Cppllcablilforp ! ! Load group (kN) wi'ght Thread
€am protiies ¥ | thickn. | Width Fx Fy Fz g
HEA 100-400
HEB 100-300 6-20 80-200 1 - | +-3,90 - 0,8 M12
IPE 160-600
T 80-140
For Pipe shoes All
Description 4 x H4 + 2 tie rods M12 + 4 nuts M12 —HD galvanised
System 22 /H1H
=
"y
i Beam dimensions Force (kN i
Cpphcabli-:orp : ! Load group ce (kN) Wilght Thread
€am profiies ¥ | thickn. | Width Fx Fy Fz g
HEA 100-400
HEB 100-300 620 | 80-200 1 - | 4390 | -100| 08 M12
IPE 160-600
T 80-140

For Pipe shoes

Base plate thickness <=15mm - no U profile

Description

2 x H1LH + 2xH1RH + 2 tie rods M12 + 4 nuts M12 —HD galvanised

GOIZEA, S.L.

Arteta Barri 2-4
E-48610-Urduliz (Bizkaia)

Tel. +3494 67661 77
Fax. +34 94 676 62 60

E-mail: goizea@qgoizea.com

Page 2/13

Edition 04 2012



mailto:goizea@goizea.com

PIPE SUPPORTS

Clamping guide systems

* GOIZEA

EXPERTOS EN SOLUCIONES

System 22/H101

-,
-
by
i Beam dimensions Force (kN i
Cppllcabl:.lforp Load group (kN) Wilght Thread
eam protiles ¥ | Thickn. | Width Fx Fy Fz g
HEA 100-400
HEB 100-300 620 | 100-300 2 | w0 [T0 g M12
IPE 200-600 >
T 100-140
For Pipe shoes Base plate thickness <=15mm - no U profile,
Description 2xH101L + 2xH101R + 2 bolts M12 + 2 nuts M12 - HD galvanised
System 22 /H103 (with PTFE slide paths)

Remark : the combination of PTFE and a stainless steel plate on the

bottom of the pipe shoes results in 5-10% friction instead of 30%

for carbon steel at carbon steel. =

-
by
i Beam dimensions Force (kN i
Cppllcabli_lfor Load group (kN) wi'ght Thread
eam profiles P ['thickn. [ width Fx Fy Fz g

HEA 100-400
HEB 100-300 620 | 100-300 2 | w0 [P0 g M12
IPE 200-600 ’
T 100-140

For Pipe shoes

Base plate thickness <=15mm - no U profile,

Description

2xH103L + 2xH103R + 2 bolts M12 + 2 nuts M12 - HD galvanised

GOIZEA, S.L.

Arteta Barri 2-4
E-48610-Urduliz (Bizkaia)

Tel. +3494 67661 77
Fax. +34 94 676 62 60

E-mail: goizea@qgoizea.com

Page 3/13

Edition 04 2012



mailto:goizea@goizea.com

PIPE SUPPORTS

Clamping guide systems

9GOIZEA

EXPERTOS EN SOLUCIONES

System 22/H201 simple

=,
=+
"
Applicable f Beam dimensions Force (kN Weigh
bpp icab i.lorp Load group (kN) T('g t Thread
eam profiles | thickn. | Width Fx Fy Fz 4
HEA 100-400
HEB 100-300 620 | 180-300 1 | wre3 [P0 a3 M12
IPE 200-600 e
T 80-140

For Pipe shoes

Base plate thickness <=15mm - no U profile,

Description

1xH201L + 1xH201R +2x H4H + 2 tie rods M12 + 2 nuts M12 - HD galvanised

System 22 /H201 double

=,
=+
N
i Beam dimensions Force (kN i
/':Ppllcablt:_lforP Load group (kN) Wi'ght Thread
eam protfles ¥ | Thickn. | Width Fx | Fy Fz €
HEA 120-400
HEB 120-300 620 | 120.300 2 | a3 | TR0 16 M12
IPE 240-600 i
T 120-140

For Pipe shoes

Base plate thickness <=15mm - no U profile

Description

2xH201L + 2xH201R + 2 tie rods M12 + 4 nuts M12 - HD galvanised

GOIZEA, S.L.

Arteta Barri 2-4
E-48610-Urduliz (Bizkaia)

Tel. +3494 67661 77
Fax. +34 94 676 62 60

E-mail: goizea@qgoizea.com

Page 4/13

Edition 04 2012



mailto:goizea@goizea.com

PIPE SUPPORTS

Clamping guide systems

9GOIZEA

EXPERTOS EN SOLUCIONES

System 22/H203 simple (+PTFE)

System 22 /H203 double / double (+ PTFE)

Remark : the combination of PTFE and a stainless steel plate on the
bottom of the pipe shoes results in 5-10% friction instead of 30%
for carbon steel at carbon steel.

Applicable for Beam dimensions Load Force (kN) Weight | . ad
beam profiles | Thickn. | Width group | Fx Fy Fz kg

HEA 120-400

HEB 120-300 620 | 120-300 2 | e384 M12
IPE 240-600 ’

T 120-140

For Pipe shoes

Base plate thickness <=15mm - no U profile

Description

2xH203L + 2xH203R + 2 tie rods M12 + 4 nuts M12 - HD galvanised

GOIZEA, S.L.

Arteta Barri 2-4
E-48610-Urduliz (Bizkaia)

Tel. +3494676 61 77
Fax. +34 94 676 62 60
E-mail: goizea@qgoizea.com

Page 5/13

Edition 04 2012



mailto:goizea@goizea.com

PIPE SUPPORTS

Clamping guide systems

9GOIZEA

EXPERTOS EN SOLUCIONES

System 22 /H48

-
.
N
Applicable for Beam dimensions Load Force (kN) Weight —
beam profiles Thickn. Width group Fx Fy Fz kg
HEA 120-400
HEB 120-300 620 | 120-300 2 | w10 |- 1,7 M16
IPE 240-600
T 120-140
For Pipe shoes All
Description 4xH48 + 2 tie rods M16 + 4 nuts M16 - HD galvanised
System 22 /H48-H28
=,
=+
"
Applicable for Beam dimensions Load Force (kN) Weight
. " " Thread
beam profiles Thickn. Width group Fx Fy Fz kg
HEA 100-400
HEB 100-300 620 | 80-300 2 - | #-100|-100 | 18 M16
IPE 160-600
T 80-140

For Pipe shoes

Base plate thickness <=15mm - no U profile

Description

1xH28L + 1xH28R + 2xH48 + 2 tie rods M16 + 4 nuts M16 - HD galvanised

GOIZEA, S.L.

Arteta Barri 2-4
E-48610-Urduliz (Bizkaia)

Tel. +3494676 61 77
Fax. +34 94 676 62 60
E-mail: goizea@qgoizea.com

Page 6/13

Edition 04 2012



mailto:goizea@goizea.com

PIPE SUPPORTS

Clamping guide systems

9GOIZEA

EXPERTOS EN SOLUCIONES

System 22/H28

Applicable for Beam dimensions Load Force (kN) Weight | . cad
beam profiles | Thickn. | Width group | Fx Fy Fz kg

HEA 120-400

HEB 120-300 620 | 120-300 2 +-10 | 200 | 2 M16
IPE 240-600

T 120-140

For Pipe shoes

Base plate thickness <=15mm - no U profile

Description 2xH28L + 2xH28R + 2 tie rods M16 + 4 nuts M16 - HD galvanised
Example
i Tel. +3494 676 6177
GOIZEA, S.L. ArtetaBarri 2-4 Fax. +34 94 676 62 60 Page 7/13
E-48610-Urduliz (Bizkaid) | E-mail: goizea@aoizencom | Ediition 04 2012



mailto:goizea@goizea.com

PIPE SUPPO

RTS

Clamping guide systems

O

GOIZEA

EXPERTOS EN SOLUCIONES

System 22 /H4 + PA6

=
=
LY
Dimension Outside. Lenght Load (KN Weight
mm BN diam. Width H2 Bg Tie rods = Fy (KN) = kgg
15 1/2" 21,3 31 133 M12 - - 0,5 0,6
20 3/4" 26,9 33 133 M12 - - 0,6 0,6
25 1" 33,7 37 133 M12 - - 0,8 0,6
32 11/4" 42,4 41 133 M12 - - 1,0 0,7
40 11/2" 48,3 44 158 M12 - - 1,1 0,7
50 2" 60,3 50 158 M12 - - 1,4 0,7
65 21/2" 76,1 58 164 M12 - - 1,7 0,7
80 3" 88,9 64 214 M12 - - 2,0 0,7
100 4" 114,3 77 218 M12 - - 2,5 0,7
125 5" 139,7 90 240 M12 - - 2,5 0,7
150 6 168,3 104 272 M12 - - 2,5 0,8
200 8" 219,1 130 329 M12 - - 2,5 0,8
Description 4xH4 + 2 tie rods M12 + 4 nuts M12 — HD galvanised + 1 sliding bearing in PA6 thick. 20
Applicable for profiles : HEA100-HEA300 / HEB100-160 / IPE200-360

-
- -y
L I-

I
!

b
hY

f
-

1

L

,

Mo

o Lo ™

=

A min = 100mm

GOIZEA, S.L.

ArtetaBarri 2-4

E-48610-Urduliz (Bizkaia)

Tel. +3494 67661 77
Fax. +34 94 676 62 60

E-mail: goizea@goizea.com

Page 8/13

Edition 04 2012



mailto:goizea@goizea.com

PIPE SUPPORTS Clamping guide systems OGOIZEA

[ ]
EXPERTOS EN SOLUCIONES

System 22 /H4 - H5 + PA6

I [
e _,,.r"" H2
|
I 20 3,
B -+,
A min =100mm N
Dimension Outside | Widht | Lenght Load (KN) Weight
. U bolt
mm ND diam H2 B Fx Fy Fz kg
20 3/4" 26,9 33 65 M12 - - 0,6 0,6
25 1" 33,7 37 72 M12 - - 08 0,6
32 | 1ua | 424 41 80 M12 - - 10 0,7
40 | 112" | 483 44 86 M12 - - 11 0,7
50 2 60,3 50 100 M12 - - 14 0,7
65 | 21/2" 76,1 58 118 M12 - - 17 0,7
80 3" 88,9 64 130 M12 - - 2,0 0,7
100 4 114,3 77 160 M12 - - 2,5 0,7
125 5 139,7 90 188 M12 - - 2,5 0,7
150 6" 168,3 104 216 M12 - - 2,5 0,8
200 8" 219,1 130 272 M12 - - 2,5 0,8
Description 2xH4 + 2xH5 + 2 tie rods M12 + 4 nuts M12 — HD galvanised + 1 sliding bearing in PA6 thick. 20+ 1
U bolt
Applicable for profiles : HEA100-HEA300 / HEB100-160 / IPE200-360

Other configurations

- Tel. +3494 676 61 77
Arteta Barri 2-4 Eo +34 94 676 62 60 Page 9/13

GOIZEA, S.L.

E-48610-Urduliz (BIZkaIa) E-mail: goizea@goizea.com Edltl on 04 2012



mailto:goizea@goizea.com

PIPE SUPPORTS

Clamping guide systems

9GOIZEA

EXPERTOS EN SOLUCIONES

System 22/H4 - H5

!
D
\\( /,/ H‘Z
= —
B =+ N
A min = 100mm
Dimension Outside | Widht | Lenght Load (KN) Weight
. U bolt
mm ND diam H2 B Ex | Fy | Fz kg
50 2" 60,3 30 100 M12 - 0,6 1,4 0,7
65 21/2" 76,1 38 118 M12 - 0,5 1,7 0,7
80 3" 88,9 44 130 M12 - 0,4 2,0 0,7
100 4" 114,3 57 160 M12 - 0,3 2,5 0,7
125 5" 139,7 70 188 M12 - 0,3 2,5 0,7
150 6" 168,3 84 216 M12 - 0,2 2,5 0,8
200 8" 219,1 110 272 M12 - 0,2 2,5 0,8
Description 2xH4 + 2xH5 + 2 tie rods M12 + 4 nuts M12 - HD galvanised + 1 U bolt
Applicable for profiles: HEA100-HEA300 / HEB100-160 / IPE200-360
Other configurations
Arteta Barri 2-4 Tel. 4349467661 77 Page 10/13
GOIZEA, S.L. R Fax. +34 94 676 62 60 =
E-48610-Urduliz (Bizkaia) | e-mail: goi zea@qoizeacom | Edition 04 2012



mailto:goizea@goizea.com

PIPE SUPPORTS

Clamping guide systems

qGOIZEA

EXPERTOS EN SOLUCIONES

Clamps

22/H1

e 22/HI1L = left clamp

e  22/H1R =right clamp

22 /H4

H=39mm
C=50mm
E=27
@D=13mm
S=18

H=20mm
C=50mm
E=27
@D=13mm
S=18

GOIZEA, S.L.

Arteta Barri 2-4
E-48610-Urduliz (Bizkaia)

Tel. +3494 676 61 77
Fax. +34 94 676 62 60
E-mail: goizea@goizea.com

Page 11/13

Edition 04 2012



mailto:goizea@goizea.com

[ J
PIPE SUPPORTS Clamping guide systems o
PInE BIEESY * GOIZEA
Clamps
22/H1H
55
/ I Ifﬁ H‘I‘!—h
/ ' 24] 45 I{'_:}L , 7
: j 24 0] B
) 25 Sl
X |'
C . 24 30
e  22/H1LH = Left clamp

22/H1RH = Right clamp

22/H101 -22/H103 (incl PTFE)

> 66
B iy i 31
- - 18 Nt !
: 10 ] 72
4 *”’ 2
. '\, \ [ !
qzal-
e 22/H101L = Left clamp

e 22/H101R = Right clamp

22/H201 -22/H203 (incl PTFE)

10 & 72

|
1
--:LLﬁJ

e 22/H201L = Left clamp
e 22/H201R = Right clamp

i Tel. +34 94676 61 77
GOIZEA, S.L. AretaBari 2-4 - po 13104676 6260 Page 12/13
E-48610-Urduliz (Bizkaia) | E-mail: goizea@qoizeacom | Edition 04 2012



mailto:goizea@goizea.com

PIPE SUPPORTS

Clamping guide systems

9 GOIZEA

EXPERTOS EN SOLUCIONES

Clamps
22 /H4H
/
/ .
i !___WT:_
e - 26 / "J
| \ i .-‘"j
22/H28
b = ji 84
— 35 13t — Y 7{%_
28| 10] :l: :I = T =
N - :@ =& | L 30 ; -/
A ' ; ! 28 | 40
e 22/H28L = Left clamp
e 22/H28R =Right clamp
22/H48
- %
| " T
- 30
\‘_ | ] ]
AN kd
GOIZEA, S.L ArtetaBarri 24 |5 ISSO00 Page 13/13
’ E-48610-Urduliz (Bizkaia) | E-mail: goizea@goizeacom | Edition 04 2012



mailto:goizea@goizea.com

	Page 1/13
	Page 2/13
	Page 3/13
	Page 4/13
	Page 5/13
	Page 6/13
	Page 7/13
	Page 8/13
	Page 9/13
	Page 10/13
	Page 11/13
	Page 12/13
	Page 13/13

